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| RESET ETRIG3/PWM3/KWP3/PP3 (=2
= BKGD/MODC ETRIG2/PWM2/KWP2/PP2 [
TEST ECLKX2/ETRIG1/PWM1/KWP1/PP1 [
API_EXTCLK/ETRIGO/PWMO/KWPO/PPO
12 PTs/10C5
s+ PT4/10C4
S5 PT3/10C3
s PT2/10C2 -
=+ PT1/I0C1/IRQ AN11/KWAD11/PAD11 |55
PTO/IOCO/XIRQ AN10/KWAD10/PAD10 [5g
AN9/KWADS/PADS |52
8 ANB/KWADS/PADS |52
5 PJO/KWJO/PWME/MISO1 AN7/KWAD7/PAD? |55
51 PJ1/KWJ1/10CE/MOSI1 ANB/KWADB/PADG |52
T PJ2/KWJ2/I0CT/SCK1 AN5/KWADS5/PADS |55
PJ3/KWJ3/PWM7/SST AN4/KWAD4/PAD4 |53
AN3/KWAD3/PADS |53
AN2/KWAD2/PAD2 |55
AN1/KWAD1/PAD1 |55
ANO/KWADO/PADO
L PMO/RXD2/RXGAN - 46
—2 PM1/TXD2/TXCAN API_EXTCLK/ECLK/SSO/PS7 (52
SCKO/PS6 2
MOSIO/PS5 45
MISOO/PS4 45
TXD1/PS3 55
RXD1/PS2 55
TXDO/PST 59
RXDO/PS0
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